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4. (40pts.) A75 kg hocley dayer moving at 6.0 m/s along thxeaxis collides with an
85 kg hocky dayer mwing at 7.5 m/s at an angle of 30° from tkexis. Afterthe
collision, the 75 kg hody dayer mwes df at 4.0 m/s at an angle of 25° from his
original direction.

a. (10pts.) Before doing ary calculations, can you assume that the total mechanical
enegy of the system (kinetic + potential) is consstvduring the collision?
Carefully justify your answer.

b. (10 pts.) Before doing ary calculations, can you assume that the total momentum
of the system is conserved during the collisidbér efully justify your answer.

c. (20pts.) Findthe velocityvector of the 85 kg player after the collision.

Big Hint: It is easier and sufficient to simply selfor thex andy components of
the velocity rather than solving for the magnitude and direction.
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e 4. (40 pts.) A 75 kg hockey player moving at 6.0 m/s along the x axis collides with an
85 kg hockey player moving at 7.5 m/s at an angle of 30° from the x axis. After the
collision, the 75 kg hockey player moves off at 4.0 m/s at an angle of 25° from his
original direction.

a. (10 pts.) Before doing any calculations, can you assume that the total mechanical
energy of the system (kinetic + potential) is conserved during the collision?
Carefully justify your answer.
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b. (10 pts.) Before doing any calculations, can you assume that the total momentum
of the system is conserved during the collision? Carefully justify your answer.
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c. (20 pts.) Find the velocity vector of the 85 kg player after the collision.

~ Big Hint: It is easier and sufficient to simply solve for the x and y components of
the velocity, rather than solving for the magnitude and direction.
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